Trigonometry Word Problems WS #2 NAME:

Model Rockets To calculate the height & reached by a model rocket,
you move 100 feet from the launch point and record the angle of
elevation @ to the rocket at its highest point. The values of @ for three
flights are given below. Find the rocket’s height to the nearest foot for
the given @ in each flight.

1 a. 8=77°

hb., 6= 81°

100 ft c. 6= 83°

Drive-in Movie You are 50 feet from the
screen at a drive-in movie. Your eye is on a
horizontal line with the bottom of the screen
and the angle of elevation to the top of the
screen is 58°. How tall is the screen?

Skyscraper You are a block away from a
skyscraper that is 780 feet tall. Your friend
is between the skyscraper and yourself. The
angle of elevation from your position to the
top of the skyscraper is 42°. The angle of
elevation from your friend’s position to the
top of the skyscraper is 71°. To the nearest
foot, how far are you from your friend?  you your friend

Ski Lift A chair lift on a ski slope has an angle

of elevation of 28° and covers a total distance of 4640 ft

4640 feet. To the nearest foot, what is the vertical

height A covered by the chair 1ift? 28° T'

Airplane Landing You are preparing to land an
airplane. You are on a straight line approach path
that forms a 3° vertical angle with the runway.

What is the distance d along this approach path  Approach path e

to your touchdown point when you are 500 feet ., it
above the ground? Round your answer to the Sl
nearest foot, o W to sale




Extension Ladders You are using extension ladders

to paint a chimney that is 33 feet tall. The length of

an extension ladder ranges in one-foot increments from

its minimum length to its maximum length. For safety,

you should always use an angle of about 75.5° between
the ground and the ladder.

a. Your smallest extension ladder has a maximum
length of 17 feet. How high does this ladder safely
reach on a vertical wall? _

b. You place the base of the ladder 3 feet from the
chimney. How many feet long should the ladder be?

¢. To reach the top of the chimney, you need a ladder
that reaches 30 feet high. How many feet long should
the ladder be?

MOUNTAIN BIKING On a mountain bike trip along the Gemimi Bridges Trail in Moab,
Utah, Nabuko stopped on the canyon floor to get a good view of the twin sandstone
bridges. Nabuko 1s standing about 60 meters from the base of the canyon cliff, and the
natural arch bridges are about 100 meters up the canyon wall. If her line of sight 1=

5 metres above the ground, what is the angle of elevation to the top of the bridges?
Round to the nearest tenth degree.

SHADOWS Suppose the sun casts a shadow off a 35-foot building.
If the angle of elevation to the sun 1z 60°, how long 12 the shadow
to the nearest tenth of a foot?
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BALLOONING Angie sees a hot air balloon 1n the
sky from her spot on the ground. The angle of
depression of the balloon to her 1s 40°. If she steps
back 200 feet, the new angle of depression 1s 10°.
If Angie 18 5.5 feet tall, how far off the ground

18 the hot air balloon?
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WATER TOWERS A student can see a water tower from the closest point of the soccer
field at San Lobos High School. The edge of the soccer field 1s about 110 feet from the
water tower and the water tower stands at a height of 32.5 feet. What is the angle of
elevation if the eye level of the student viewing the tower from the edge of the soccer
field 1= 6 feet above the ground? Round to the nearest tenth.




CONSTRUCTION A roofer props a ladder against a wall so that the top of the ladder
reaches a 30-foot roof that needs repair. If the angle of elevation from the bottom of the
ladder to the roof 18 55°, how far is the ladder from the base of the wall? Round your
answer to the nearest foot.

TOWN ORDINANCES The town of Belmont restricts the height
of flagpoles to 25 feet on any property. Laindsay wants to
determine whether her school is in compliance with the regulation.
Her eye level 1s 5.5 feet from the ground and she stands 36 feet
from the flagpole. If the angle of elevation is about 25°,

what 1s the height of the flagpole to the nearest tenth?
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GEOGRAPHY Stephan 1= standing on the ground by

a mesa In the Painted Desert. Stephan 1= 1.8 meters
tall and sights the top of the mesa at 29°. Stephan steps
back 100 meters and sights the top at 25°. How tall 1s

the mesa?
A
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INDIRECT MEASUREMENT Mr. Dominguez 1s standing
on a 40-foot ocean bluff near his home. He can =see his two
dogs on the beach below. If his line of sight 15 6 feet above
the ground and the angles of depression to his dogs are

34° and 48°, how far apart are the dogs to the nearest foot?

Mr. Dominguez
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